EE 4  Review
            

Name:_________________________

Enter 1-9 in  ET






#   ____

When graphing an inequality, you were told in step one, to _____________

_____________________________________________________________

Read each graph and write the inequality that matches the graph.
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Using the steps explained in this standard, draw a graph of each inequality.

     6  <  m





      p  ≥  -2

Solve each inequality showing all the correct steps.

1)       
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2)     15z  <  -60
Solve each inequality showing all the correct steps.

3)      2r + r  +  -13 <  11



4)     -3(6)  +  n  
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Solve each inequality showing all the correct steps.
5)
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Solve these 2 step inequalities showing all the steps.

6)
3n – 15  >  12 + 12



7)
-4m  + 2   
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9)      -4z  +  -15  <  3
15)  Think about this…  Show the inequality here and solve to find the number of sales needed to earn at least $100. (refer to packet)
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